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Friday:

1. Using the parent function: y = vx, write the equation of the transformed function if the graph'is
translated up 3 units, to the left 4 units and stretched by 2.

2. . Which function Is even? | Q\]w-'«l +3

fix) = (x+ 2)(x - 2)
B fl)=x(x+2) %
) =x( # %{
C Ax)={x+1)K-2
Sy N
D ) = (i Sy

3. Isthe function f(x) = (x- 4)*~ 6 an even, odd function ¢ ééi;her? >

(x4 ) -6 = Y% Fxrio

4. Given the function f(x)= (x + 4)3+ 7 and g(x) = 2(x) ®+ 3, describe the transformation from f(x) to

g{x) that occurred. SWWG! 2, ﬂﬁ'f/l'" ‘(, Clovont C/

The value, V, ¢ e modeled by the function V(f) = 13,000(0.82)%, where
t Is the numbertgf'years since the car was purchased. To the nearest tenth of a
percent, what is the, monthly rate of depreciation?
A 1.5% '
’ 13,000 (.93) fx
1.6%
Y 212,796 7%
C 8.2%
D 18.0% 12,750.75-13099C = -, 0l 7
1a, 7%6.75%
Monday:

Tuesday: TEST DAY! Turn in Portfolio



